T W W

= 742 MM.pT.CT T= 5§ °C D 049 wm S= 0.188 2 Krp 0.5
L1= 0.4 H= -320 mm.BoAa.CT. L2= 0.8

Pcr= -18.8 MM.pT.CT.

h1= 10 |15| 25 | 20 | 18] 17 | 15
h2= 15 | 20| 18 | 20 | 23] 14 | 12|

p= 120 kM H= 173  wmm.Bog.c1 Q= 5093 My Q. = 4921 Msl'j
3.46 7.5

m/c

Haw

Mpo6HbIA naTpoH

h= 20 wmm.Boa.CT. d, = 5 MM Vors= 9 AM/MUWH
P, = -26 MM.pT.CT. tb= 5 °C Vy = 89 M’ /MuH
havH= 4.0 Vnuu.=  8.07 m/c
MNarpon 1 MNatpow 2
Mpusec(r)= 0.00026 0.00026
Vi (AM°IMuH)= 8.9 8.9
T (MUH)= 1 1
P, (Mm.pT.CT.) = -26 -26
to ( GC)= 5 5
V, (AM3) = 8.8 8.8
z (MTIM3)= 294 294

-

; 0.8 paa
//
Ucnonnutenu: MywHésa E.A. c 2,/

[

Havanbhuk L3/ H.l. Cevpupaosa



-

»rw

e

B= 743 |M‘p'r. . Tr: 5 °C
L1= 0.30 H= -230 mm.Bog.CT. L2= 0.8
Pcr= -13.5 MM.pT.CT.
hi= 70 | 98 | 85| 75 | 65 | 80 | 30| 30
ha= 30 | 45 | 80| 85 | 88 | 97 | 97| 73]
p= 121 H= 705  MM. BOA.CT. 13297 My Q,= 12904 MM
10.58 w/c

Mpo6HbIA NaTpoH

h= 85 MM.BOA.CT. d,= 5 MM
P,= -19 wMm.prcCT. t,= 3
haun= 12.8 VnuH.= 144 wic
MaTpox Ne
Mpusec(r)= 0.00105
Vi (AMS/MMH)= 16.0
T (MUH)= 1
P, (Mm.pT.CT.) = -19
t, (°C)= 3
Vo (AM3) = 15.8
z (MI'/M3)= 66

7

D 0.6 - "5-028 o  Kip 05

Voe= 17

AMY/MUH

16.0 am*/mun

NatpoH Ne 8
0.00103
16.0
1

-19
3
15.8
65

Bee@. nas g8 a3

HavanbHuk L3N

—%

H.I.Csupugosa

Wcnonuutenu: Kypbatoea .M. /Zé& Fny%
7



hi= 13 | 20 | 17| 17 | 18| 15 | 15| 12]
h2= 12[12|1e|1a|17|17|19| 12|

H= 156 MM. BOA.CT. Q= 9788 My Q,=
Haun= 3.13 VIuH. 71 m/c

Mpo6HbIk naTpoH

h= 18 wmm.Boa.cr. d,= 5 MM Vors= 89  am*muH
Pp= -23 wmm.pr.cT. t,= 5 °C Vy =
havwe= 3.6 Vnme.=  7.59 wm/c
MNaTpoH Ne 5§ Matpon Ne 6
Mpusec(r)= 0.00193 0.00210
Vax (BM¥/MuH)= 86 8.6
T (MUH)= 1 1
P, (Mm.pT.cT.) = -23 -23
t, ( °C)= 5 5
V, (am®) = 8.4 8.4

z (MT/M3)= 228 249

Buibpoc e ed. MIB 0.8 pas

B= 742 MM.pT.CT T= 5 °C D 07 M S= 0385
L1= 040 H= -170 mm.Boa.cT. L2= 0.4
Pcr= -5.0 MM.pT.CT.

86  am’mun

/ /
‘;OQ —
Ucnonuutenu: Kypbatosa .M. f /’// MywHesa E.A. "{7(. <
HauansHuk L3N %F. Csupuaosa
7/



Pcr=
h1=

h2=

743 wprer . Tr= 5 °C D 06 M

S=0.28
0.30 H= 75 wmm.BOA.CT. L2= 03
1.65 MM.pT.CT.

46|60|65|80|80|80|85| so| 75|
75 | 80| 85| 80| 80| 80 | 85| 65| 50

1.24

73.9
11.1

Kr/m® H=
Haun

13478 M3/"I
m/c

mMM. Boa.CT. Qp =
Vnn 13.2

Q= 13215

MpoGHbINK na'rpo

h= 80 mmBogct dy= 5 Mm
P, = -19 mm.pr.cT. tb= 5
have= 12.0 Vnui.= 13.8 m/c
MarpoH Ne
Mpusec(r)= 0.00032
Vo (AM3MUH)= 15.7
T (MUH)= 1
Pp (MM.pT.CT.) = -19
t.(°C)= 5
Vo (am’) = 155
z (mr/m)= 21

3

16.2

AM®/MUH

Matrpou Ne 4
0.00038
157
1
-19
5
15.5
25

Ktp 0.5

Ml

157 am®/mun

Hauanbhuk LIS

H.I". Ceupuaosa




L1= 0.3 H=-210 mm.BOA.CT. L2= 0.6

Pct= -9.3 MM.pT.CT.
hi= 18 | 16| 14 | 12 | 10] 9 |
he= 9 |10] 13 | 14 |15] 18 |
p= 122 wimd H= 132 Mm. Boa.CT. Q, = 2550 w3y Q,= 2478 M
Haww= 2.0 VnuH.= 56 m/c
Hata ananusa: 126.04.2017
MNpo6HbLIA hunbTp
h= 12 wmm.Boa.cT. d,= 4 wmm Vos= 4.0  am®/mun
Pp= -17 mmpT.cT. L= 10 °C Tmun: 8 V= 39 am¥/mun
Tmun 13
hauH= 2 MM.BOA.CT. VnuH.= 538 m/c m/c Vo (amM3) 279 Li Vo (am3) 46.4 1eNoub

M1-1 (- mr/m®)
M1-2 (Z- mr/m®)

C, (mr/m)
Bb{ﬁ v‘.', ({fe} '”.

N2-1 (Z- mr/m3)
N2-2 (Z- mrim3)

C, ((n‘nr/n\ns) :

= —

0oC,

Hopma, (/o) 0.0002310
Buibpock: B ea. NAB 0.72

Lr-
W3amepenu: Kypbatosa .M. /% f/

Hauanbhuk LI3N

, MywHesa E.A.

Ceupuposa H.I'.



Mecto ov6opa;’
754 MM.pT.CT
L1= 0.3 H= -175 mm.Boa.CT. L2= 0.3

Pcr= -3.9 MM.pT.CT.
hi= 16 | 13 | 14] 11 | |
h2= 11|13|13]17] |

p= 119 y/md H= 135 MM. BOA.CT. Q,= 2618  my Q,= 2510 My
Hawu= 2.0 VnuH.= 58 m/c
. : Aamamuaaz&m,zaﬂ 5 1
NpoGHbIh hunbTp
h= 13 wmm.eoa.cT. dy= 4 wmm Vor6= 43 amM*/MuH
Pp= -7.5 wmmpr.cT. t,= 20 °C Tvui 7 . Vw= 41  am’/mun
Tmun 12
have= 2.0 MMm.BoA.CT. Vnui.= 568 m/c wm/c Vo (am3) 26.1 Li Vo (am3) 447 wenous
LD @ is

M 71 (Z- mr/m®)
N 7-2 (Z- mrim®)

M 8-1 (Z- mr/m3) 1.05
M 8-2 (Z- Mr/m3) 1.02

C, (mr/m®) i

|Hopma, ()

[Butbpocst s ea NAB |

N3amepenu: Kypbatoea I'.I1.

HauanbHuk 311 Csupuagosa H.I".

-



754 MM.p‘i’.CT ‘ Tr= ' 35 °c

L1= 04 H= -10 wmm.soa.cT. L2= 04
Pcr= -0.29 MM.pT.CT.

hi= 16 | 17| 25 | 40 | 45| 55 |

ha= 55 | 45| 35 | 30 | 15| 15 |

p= 113 ymd H= 32.8 MMm.BoOj.CT. Q,= 3687 miy Q.= 3456

MM
Haun= 6.6 VnuH.= 10.7 m/c
Mpo6Hbi hunbTp . T
h= 25 mm.Bog.CT. d,= 4 wm Vo= 7.0 am%muH
Po= -19 mmprecr. t,= 25 °C Tvun 4 Vy = 6.4 AMIMUH
Tvmun - 7
hauH= 5 MM.Boag.CT. VnuH.= 931 m/c wmic Vo (am3) 23.8 Li Vo (1m3) 39.0 W€I0Yb

M (Z-momy,
N2Z-mom® = e e 8 b w0 b
C’ (MI'IMQ) 3 S i SO - ? S T " = ; S
Bk e —
Boibpoc, (ac)

Bei6poc, (leyr)
Hopwa, @) -
Buibpocbia en. B
NenpoBer
N1 (Z- mr/m3)
N2 (Z- mr/m3) ' 0.85
C, (mrim’) & - ‘ 0A§4
Buibpoc, (c) . 0.00081
Buibpoc, (/vac) '
Busbpoc, wom
Hopwma, (r/c) ;
Buibpocst B s
Wamepenu: Mywxésa E.A. CL/ . Kypbatopa [.N. ~ ({/‘/ﬁ .

Havanbhuk L3 = Csupuaosa H.I".



